
https://www.passapply.com/c2010-571.html
2024 Latest passapply C2010-571 PDF and VCE dumps Download

 

 

 

C2010-571Q&As

IBM Tivoli Process Automation Engine V7.5 Implementation

Pass IBM C2010-571 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/c2010-571.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

 

 

C2010-571 VCE Dumps | C2010-571 Practice Test | C2010-571 Study Guide                                1 / 3

https://www.passapply.com/c2010-571.html
https://www.passapply.com/c2010-571.html
https://www.passapply.com/c2010-571.html


https://www.passapply.com/c2010-571.html
2024 Latest passapply C2010-571 PDF and VCE dumps Download

QUESTION 1

A report cannot show more than 200 records even if a query is generated that contains greater then 200 records. Which
option restricts the output? 

A. Enable Limit Records and seta Max Record Limit value 

B. Enable Max Records and set an Upper Record Limit value 

C. Enable Restrict Records and set a Max Record Limit value 

D. Enable Record Controls and set an Upper Record Limit value 

Correct Answer: A 

 

QUESTION 2

What are two required attributes when creating an escalation? (Choose two) 

A. Action 

B. Schedule 

C. Applies To 

D. Notification 

E. Escalation Point 

Correct Answer: BC 

 

QUESTION 3

Which statement defines a table domain? 

A. It is a simple list of values that use one of the table data types. 

B. It is a dynamic set of values based on the values of another object. 

C. It is a list of numeric values retrieved by multiple tables that are defined when a range is specified. 

D. It is a special type of table domain in which the system brings back another value (or values) from the specified
record. 

Correct Answer: B 

 

QUESTION 4

Which two options are valid target types for a Migration Manager package? (Choose two.) 
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A. file 

B. URL 

C. database 

D. another environment 

E. database connection string 

Correct Answer: AC 

 

QUESTION 5

Which statement is true about Classification hierarchies? 

A. Hierarchies can be hierarchical or networks. 

B. Only one hierarchy can be assigned to each object. 

C. Multiple hierarchies can be assigned to each object. 

D. Multiple objects must be assigned to network hierarchies. 

Correct Answer: C 
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